Algebral Lesson #4 Unit 6
Class Worksheet #4
For Worksheets #6-8




Algebra I Slope of an Oblique Line



Algebra I Slope of an Oblique Line

Look at the lines below.
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Algebra I Slope of an Oblique Line

Look at the lines below. Line k is “steeper’ than line j.
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Algebral Slope of an Oblique Line
Look at the lines below. Line k is “steeper’ than line j.

The “steepness’ of a line can be represented using a number called the slope.
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Algebral Slope of an Oblique Line
Look at the lines below. Line k is “steeper’ than line j.
The “steepness’ of a line can be represented using a number called the slope.

The slope of a line is calculated using a ratio.
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Algebral Slope of an Oblique Line
Look at the lines below. Line k is “steeper’ than line j.
The “steepness’ of a line can be represented using a number called the slope.

.. : : _rise
The slope of a line Is calculated using a ratio.  Slope =y
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Algebral Slope of an Oblique Line
Look at the lines below. Line k is “steeper’ than line j.
The “steepness’ of a line can be represented using a number called the slope.

.. : : _rise
The slope of a line Is calculated using a ratio.  Slope =y

To find the slope follow these steps.
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Algebral Slope of an Oblique Line
Look at the lines below. Line k is “steeper’ than line j.
The “steepness’ of a line can be represented using a number called the slope.

.. : : _rise
The slope of a line Is calculated using a ratio.  Slope =y

To find the slope follow these steps.

/7’ i Step 1: Mark two points on the line.
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Algebral Slope of an Oblique Line
Look at the lines below. Line k is “steeper’ than line j.
The “steepness’ of a line can be represented using a number called the slope.

.. : : _rise
The slope of a line Is calculated using a ratio.  Slope =y

To find the slope follow these steps.
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Algebral Slope of an Oblique Line
Look at the lines below. Line k is “steeper’ than line j.
The “steepness’ of a line can be represented using a number called the slope.

.. : : _rise
The slope of a line Is calculated using a ratio.  Slope =y

To find the slope follow these steps.

/7’ i Step 1: Mark two points on the line.
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Algebral Slope of an Oblique Line
Look at the lines below. Line k is “steeper’ than line j.
The “steepness’ of a line can be represented using a number called the slope.

.. : : _rise
The slope of a line Is calculated using a ratio.  Slope =y

To find the slope follow these steps.

A Step 1: Mark two points on the line.
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Algebral Slope of an Oblique Line
Look at the lines below. Line k is “steeper’ than line j.
The “steepness’ of a line can be represented using a number called the slope.

.. : : _rise
The slope of a line Is calculated using a ratio.  Slope =y

To find the slope follow these steps.

A Step 1: Mark two points on the line.
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Algebral Slope of an Oblique Line
Look at the lines below. Line k is “steeper’ than line j.
The “steepness’ of a line can be represented using a number called the slope.

.. : : _rise
The slope of a line Is calculated using a ratio.  Slope =y

To find the slope follow these steps.

A Step 1: Mark two points on the line.
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Algebral Slope of an Oblique Line
Look at the lines below. Line k is “steeper’ than line j.
The “steepness’ of a line can be represented using a number called the slope.

.. : : _rise
The slope of a line Is calculated using a ratio.  Slope =y

To find the slope follow these steps.

/7’ i Step 1: Mark two points on the line.
// Step 2: Calculate the ‘rise’.
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Algebral Slope of an Oblique Line
Look at the lines below. Line k is “steeper’ than line j.
The “steepness’ of a line can be represented using a number called the slope.

.. : : _rise
The slope of a line Is calculated using a ratio.  Slope =y

To find the slope follow these steps.

/7’ i Step 1: Mark two points on the line.
// Step 2: Calculate the ‘rise’.
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Algebral Slope of an Oblique Line
Look at the lines below. Line k is “steeper’ than line j.
The “steepness’ of a line can be represented using a number called the slope.

.. : : _rise
The slope of a line Is calculated using a ratio.  Slope =y

To find the slope follow these steps.

/7’ i Step 1: Mark two points on the line.
// Step 2: Calculate the ‘rise’.
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Algebral Slope of an Oblique Line
Look at the lines below. Line k is “steeper’ than line j.
The “steepness’ of a line can be represented using a number called the slope.

.. : : _rise
The slope of a line Is calculated using a ratio.  Slope =y

To find the slope follow these steps.

/7’ i Step 1: Mark two points on the line.
// Step 2: Calculate the ‘rise’.
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Algebral Slope of an Oblique Line
Look at the lines below. Line k is “steeper’ than line j.
The “steepness’ of a line can be represented using a number called the slope.

.. : : _rise
The slope of a line Is calculated using a ratio.  Slope =y

To find the slope follow these steps.

/7’ i Step 1: Mark two points on the line.
// Step 2: Calculate the ‘rise’.
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Algebral Slope of an Oblique Line
Look at the lines below. Line k is “steeper’ than line j.
The “steepness’ of a line can be represented using a number called the slope.

.. : : _rise
The slope of a line Is calculated using a ratio.  Slope =y

To find the slope follow these steps.

/7’ i Step 1: Mark two points on the line.
// Step 2: Calculate the ‘rise’.
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Algebra I Slope of an Oblique Line

Look at the lines below. Line k is “steeper’ than line j.

The “steepness’ of a line can be represented using a number called the slope.

rise

The slope of a line Is calculated using a ratio.  Slope =y
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To find the slope follow these steps.

Step 1: Mark two points on the line.

Step 2: Calculate the ‘rise’.

Line | Line k
Rise: 3



Algebra I Slope of an Oblique Line

Look at the lines below. Line k is “steeper’ than line j.

The “steepness’ of a line can be represented using a number called the slope.

rise

The slope of a line Is calculated using a ratio.  Slope =y
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To find the slope follow these steps.

Step 1: Mark two points on the line.

Step 2: Calculate the ‘rise’.

Line | Line k
Rise: 3



Algebra I Slope of an Oblique Line

Look at the lines below. Line k is “steeper’ than line j.

The “steepness’ of a line can be represented using a number called the slope.

rise

The slope of a line Is calculated using a ratio.  Slope =y
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To find the slope follow these steps.

Step 1: Mark two points on the line.

Step 2: Calculate the ‘rise’.

Line | Line k
Rise: 3



Algebra I Slope of an Oblique Line

Look at the lines below. Line k is “steeper’ than line j.

The “steepness’ of a line can be represented using a number called the slope.

.. : : _rise
The slope of a line Is calculated using a ratio.  Slope =y
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To find the slope follow these steps.

Step 1: Mark two points on the line.

Step 2: Calculate the ‘rise’.

Line | Line k
Rise: 3



Algebra I Slope of an Oblique Line

Look at the lines below. Line k is “steeper’ than line j.

The “steepness’ of a line can be represented using a number called the slope.

.. : : _rise
The slope of a line Is calculated using a ratio.  Slope =y
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To find the slope follow these steps.

Step 1: Mark two points on the line.

Step 2: Calculate the ‘rise’.

Line | Line k
Rise: 3 Rise:



Algebra I Slope of an Oblique Line

Look at the lines below. Line k is “steeper’ than line j.

The “steepness’ of a line can be represented using a number called the slope.

.. : : _rise
The slope of a line Is calculated using a ratio.  Slope =y
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To find the slope follow these steps.

Step 1: Mark two points on the line.

Step 2: Calculate the ‘rise’.

Line | Line k
Rise: 3 Rise: 4



Algebra I Slope of an Oblique Line

Look at the lines below. Line k is “steeper’ than line j.

The “steepness’ of a line can be represented using a number called the slope.

.. : : _rise
The slope of a line Is calculated using a ratio.  Slope =y
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To find the slope follow these steps.
Step 1: Mark two points on the line.
Step 2: Calculate the ‘rise’.
Step 3: Calculate the ‘run’.

Line | Line k
Rise: 3 Rise: 4



Algebra I Slope of an Oblique Line

Look at the lines below. Line k is “steeper’ than line j.

The “steepness’ of a line can be represented using a number called the slope.

.. : : _rise
The slope of a line Is calculated using a ratio.  Slope =y
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To find the slope follow these steps.
Step 1: Mark two points on the line.
Step 2: Calculate the ‘rise’.
Step 3: Calculate the ‘run’.

Line | Line k
Rise: 3 Rise: 4



Algebra I Slope of an Oblique Line

Look at the lines below. Line k is “steeper’ than line j.

The “steepness’ of a line can be represented using a number called the slope.

.. : : _rise
The slope of a line Is calculated using a ratio.  Slope =y
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To find the slope follow these steps.
Step 1: Mark two points on the line.
Step 2: Calculate the ‘rise’.
Step 3: Calculate the ‘run’.

Line | Line k
Rise: 3 Rise: 4
Run:



Algebra I Slope of an Oblique Line

Look at the lines below. Line k is “steeper’ than line j.

The “steepness’ of a line can be represented using a number called the slope.

.. : : _rise
The slope of a line Is calculated using a ratio.  Slope =y
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To find the slope follow these steps.
Step 1: Mark two points on the line.
Step 2: Calculate the ‘rise’.
Step 3: Calculate the ‘run’.

Line | Line k
Rise: 3 Rise: 4
Run: 9



Algebra I Slope of an Oblique Line

Look at the lines below. Line k is “steeper’ than line j.

The “steepness’ of a line can be represented using a number called the slope.

.. : : _rise
The slope of a line Is calculated using a ratio.  Slope =y
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To find the slope follow these steps.
Step 1: Mark two points on the line.
Step 2: Calculate the ‘rise’.
Step 3: Calculate the ‘run’.

Line | Line k
Rise: 3 Rise: 4
Run: 9



Algebra I Slope of an Oblique Line

Look at the lines below. Line k is “steeper’ than line j.

The “steepness’ of a line can be represented using a number called the slope.

.. : : _rise
The slope of a line Is calculated using a ratio.  Slope =y
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To find the slope follow these steps.
Step 1: Mark two points on the line.
Step 2: Calculate the ‘rise’.
Step 3: Calculate the ‘run’.

Line | Line k
Rise: 3 Rise: 4
Run: 9 Run:



Algebra I Slope of an Oblique Line

Look at the lines below. Line k is “steeper’ than line j.

The “steepness’ of a line can be represented using a number called the slope.

.. : : _rise
The slope of a line Is calculated using a ratio.  Slope =y
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To find the slope follow these steps.
Step 1: Mark two points on the line.
Step 2: Calculate the ‘rise’.
Step 3: Calculate the ‘run’.

Line | Line k
Rise: 3 Rise: 4
Run: 9 Run: 6



Algebra I Slope of an Oblique Line

Look at the lines below. Line k is “steeper’ than line j.
The “steepness’ of a line can be represented using a number called the slope.
The slope of a line is calculated using a ratio. Slope = %

To find the slope follow these steps.

/7’ i Step 1: Mark two points on the line.
// Step 2: Calculate the ‘rise’.
rise
// Step 3: Calculate the “run’.
7~ T 3 Step 4: Use the above equation to find the slope.
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Algebra I Slope of an Oblique Line

Look at the lines below. Line k is “steeper’ than line j.
The “steepness’ of a line can be represented using a number called the slope.
The slope of a line is calculated using a ratio. Slope = %

To find the slope follow these steps.

/7’ i Step 1: Mark two points on the line.
// Step 2: Calculate the ‘rise’.
rise
// Step 3: Calculate the “run’.
7~ T 3 Step 4: Use the above equation to find the slope.
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< o Rise: 3 Rise: 4
Run: 9 Run: 6

_rise
Slope =1n



Algebra I Slope of an Oblique Line

Look at the lines below. Line k is “steeper’ than line j.
The “steepness’ of a line can be represented using a number called the slope.
The slope of a line is calculated using a ratio. Slope = %

To find the slope follow these steps.

/7’ i Step 1: Mark two points on the line.
// Step 2: Calculate the ‘rise’.
rise
// Step 3: Calculate the “run’.
7~ T 3 Step 4: Use the above equation to find the slope.
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< o Rise: 3 Rise: 4
Run: 9 Run: 6

_rise _
Slope = n =



Algebra I Slope of an Oblique Line

Look at the lines below. Line k is “steeper’ than line j.
The “steepness’ of a line can be represented using a number called the slope.
The slope of a line is calculated using a ratio. Slope = %

To find the slope follow these steps.

/7’ i Step 1: Mark two points on the line.
// Step 2: Calculate the ‘rise’.
rise
// Step 3: Calculate the “run’.
7~ T 3 Step 4: Use the above equation to find the slope.
rd /// J
= rise Line i Line k
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< o Rise: 3 Rise: 4
Run: 9 Run: 6

_rise _ 3
Slope = n =



Algebra I Slope of an Oblique Line

Look at the lines below. Line k is “steeper’ than line j.
The “steepness’ of a line can be represented using a number called the slope.
The slope of a line is calculated using a ratio. Slope = %

To find the slope follow these steps.

/7’ i Step 1: Mark two points on the line.
// Step 2: Calculate the ‘rise’.
rise
// Step 3: Calculate the “run’.
7~ T 3 Step 4: Use the above equation to find the slope.
rd /// J
= rise Line i Line k
= IN€ | Ine
< o Rise: 3 Rise: 4
Run: 9 Run: 6

_rise _ 3
Slope = n =



Algebra I Slope of an Oblique Line

Look at the lines below. Line k is “steeper’ than line j.
The “steepness’ of a line can be represented using a number called the slope.
The slope of a line is calculated using a ratio. Slope = %

To find the slope follow these steps.
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// Step 2: Calculate the ‘rise’.
rise
// Step 3: Calculate the “run’.
7~ T 3 Step 4: Use the above equation to find the slope.
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Algebra I Slope of an Oblique Line

Look at the lines below. Line k is “steeper’ than line j.
The “steepness’ of a line can be represented using a number called the slope.
The slope of a line is calculated using a ratio. Slope = %

To find the slope follow these steps.

K |
/7’ i Step 1: Mark two points on the line.
// Step 2: Calculate the ‘rise’.
rise
// Step 3: Calculate the “run’.
7~ T 3 Step 4: Use the above equation to find the slope.
rd /// J
= rise Line i Line k
= IN€ | Ine
- b Rise: 3 Rise: 4
Run: 9 Run: 6
rise _ 3 rise

Slope = n = 9 Slope =1 n



Algebra I Slope of an Oblique Line

Look at the lines below. Line k is “steeper’ than line j.
The “steepness’ of a line can be represented using a number called the slope.
The slope of a line is calculated using a ratio. Slope = %

To find the slope follow these steps.

K |
/7’ i Step 1: Mark two points on the line.
// Step 2: Calculate the ‘rise’.
rise
// Step 3: Calculate the “run’.
7~ T 3 Step 4: Use the above equation to find the slope.
rd /// J
= rise Line i Line k
= IN€ | Ine
- b Rise: 3 Rise: 4
Run: 9 Run: 6
rise _ 3 rise _

Slope = n = 9 Slope = n =



Algebra I Slope of an Oblique Line

Look at the lines below. Line k is “steeper’ than line j.
The “steepness’ of a line can be represented using a number called the slope.
The slope of a line is calculated using a ratio. Slope = %

To find the slope follow these steps.

K |
/7’ i Step 1: Mark two points on the line.
// Step 2: Calculate the ‘rise’.
rise
// Step 3: Calculate the “run’.
7~ T 3 Step 4: Use the above equation to find the slope.
rd /// J
= rise Line i Line k
= IN€ | Ine
£ o Rise: 3 Rise: 4
Run: 9 Run: 6
rise _ 3 rise _ 4

Slope = n = 9 Slope = n =



Algebra I Slope of an Oblique Line

Look at the lines below. Line k is “steeper’ than line j.
The “steepness’ of a line can be represented using a number called the slope.
The slope of a line is calculated using a ratio. Slope = %

To find the slope follow these steps.

K |
/7’ i Step 1: Mark two points on the line.
// Step 2: Calculate the ‘rise’.
rise
// Step 3: Calculate the “run’.
7~ T 3 Step 4: Use the above equation to find the slope.
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= rise Line i Line k
= IN€ | Ine
£ o Rise: 3 Rise: 4
Run: 9 Run: 6
rise _ 3 rise _ 4
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Algebra I Slope of an Oblique Line

Look at the lines below. Line k is “steeper’ than line j.
The “steepness’ of a line can be represented using a number called the slope.
The slope of a line is calculated using a ratio. Slope = %

To find the slope follow these steps.

K |
/7’ i Step 1: Mark two points on the line.
// Step 2: Calculate the ‘rise’.
rise
// Step 3: Calculate the “run’.
7~ T 3 Step 4: Use the above equation to find the slope.
rd /// J
= rise Line i Line k
= IN€ | Ine
£ o Rise: 3 Rise: 4
Run: 9 Run: 6
rise _ 3 rise _ 4

Slope =Tun = 9 Slope =Tun = &



Algebra I Slope of an Oblique Line

Look at the lines below. Line k is “steeper’ than line j.
The “steepness’ of a line can be represented using a number called the slope.
The slope of a line is calculated using a ratio. Slope = %

To find the slope follow these steps.

K |
/7’ i Step 1: Mark two points on the line.
// Step 2: Calculate the ‘rise’.
rise
// Step 3: Calculate the ‘run’.
- T 3 Step 4. Use the above equation to find the slope.
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rd — ] Note: The slope is always reduced to lowest terms.
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= Line j Line k
= i Rise: 3 Rise: 4
Run: 9 Run: 6
rise _ 3 rise _ 4

Slope =Tun = 9 Slope =Tun = &



Algebra I Slope of an Oblique Line

Look at the lines below. Line k is “steeper’ than line j.
The “steepness’ of a line can be represented using a number called the slope.
The slope of a line is calculated using a ratio. Slope = %

To find the slope follow these steps.

K |
A Step 1: Mark two points on the line.

,/ Step 2: Calculate the ‘rise’.

/ Step 3: Calculate the ‘run’.
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P run

7 Step 4. Use the above equation to find the slope.

rd — ] Note: The slope is always reduced to lowest terms.
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& run Rise: 3 Rise: 4
Run: 9 Run: 6

_rise
Slope = Tun
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Algebra I Slope of an Oblique Line

Look at the lines below. Line k is “steeper’ than line j.
The “steepness’ of a line can be represented using a number called the slope.
The slope of a line is calculated using a ratio. Slope = %

To find the slope follow these steps.

K |
/7’ i Step 1: Mark two points on the line.
// Step 2: Calculate the ‘rise’.
rise
// Step 3: Calculate the ‘run’.
- T 3 Step 4. Use the above equation to find the slope.
- o
rd — ] Note: The slope is always reduced to lowest terms.
— rise o ]
= Line j Line k
= i Rise: 3 Rise: 4
Run: 9 Run: 6
rise 1 rise _ 4

_ 3_1 _ 4
Slope = n = 9=73 Slope=1yn = 5



Algebra I Slope of an Oblique Line

Look at the lines below. Line k is “steeper’ than line j.
The “steepness’ of a line can be represented using a number called the slope.
The slope of a line is calculated using a ratio. Slope = %

To find the slope follow these steps.

K |
/7’ i Step 1: Mark two points on the line.
// Step 2: Calculate the ‘rise’.
rise
// Step 3: Calculate the ‘run’.
- T 3 Step 4. Use the above equation to find the slope.
- o
rd — ] Note: The slope is always reduced to lowest terms.
— rise o ]
= Line j Line k
= i Rise: 3 Rise: 4
Run: 9 Run: 6
rise 1 rise _ 4

_rise _3_1 _rise _ 4 _
Slope=1n =9=73 Slope=1yn =5=



Algebra I Slope of an Oblique Line

Look at the lines below. Line k is “steeper’ than line j.
The “steepness’ of a line can be represented using a number called the slope.
The slope of a line is calculated using a ratio. Slope = %

To find the slope follow these steps.

K |
/7’ i Step 1: Mark two points on the line.
// Step 2: Calculate the ‘rise’.
rise
// Step 3: Calculate the ‘run’.
- T 3 Step 4. Use the above equation to find the slope.
- o
rd — ] Note: The slope is always reduced to lowest terms.
— rise o ]
= Line j Line k
= i Rise: 3 Rise: 4
Run: 9 Run: 6
rise 1 rse _ 4 _ 2

_ 3_1 _ 4_2
Slope=1n =9=73 Slope=1yn =5 =3



Algebra I Slope of an Oblique Line

_rise
Slope = n

To find the slope follow these steps.

A Step 1: Mark two points on the line.

,/ Step 2: Calculate the ‘rise’.

/ Step 3: Calculate the ‘run’.

run

Step 4. Use the above equation to find the slope.

—T1 ] Note: The slope is always reduced to lowest terms.

- rise

Line | Line k

un Rise: 3 Rise: 4

Run: 9 Run: 6
rse _ 4 _ 2

_rse_3_1 _ 4_ 2
Slope=1n =9=73 Slope=1yn =5 =3



Algebral Slope of an Oblique Line
The slope of a line is represented using the letter m.

_rise
Slope = n

To find the slope follow these steps.

A Step 1: Mark two points on the line.

,/ Step 2: Calculate the ‘rise’.

/ Step 3: Calculate the ‘run’.

/,
P run

7 Step 4. Use the above equation to find the slope.

rd — ] Note: The slope is always reduced to lowest terms.

— rise o ]
— Line | Line k

& run Rise: 3 Rise: 4
Run: 9 Run: 6
rse _ 4 _ 2

_rse_3_1 _ 4_ 2
Slope=1n =9=73 Slope=1yn =5 =3




Algebral Slope of an Oblique Line
The slope of a line is represented using the letter m.
(I don’t know who decided that!!)

_rise
Slope = n

To find the slope follow these steps.

A Step 1: Mark two points on the line.

,/ Step 2: Calculate the ‘rise’.

S Step 3: Calculate the ‘run’.

,/ run

7 Step 4. Use the above equation to find the slope.

rd — ] Note: The slope is always reduced to lowest terms.
— rise o ]
= Line j Line k
= i Rise: 3 Rise: 4
Run: 9 Run: 6

_rse_3_1 _rse _a_2
Slope=1n =9=73 Slope=1yn =5 =3




Algebral Slope of an Oblique Line
The slope of a line is represented using the letter m.

_rise
Slope = n

To find the slope follow these steps.

A Step 1: Mark two points on the line.

,/ Step 2: Calculate the ‘rise’.

/ Step 3: Calculate the ‘run’.

/,
P run

7 Step 4. Use the above equation to find the slope.

rd — ] Note: The slope is always reduced to lowest terms.

— rise o ]
— Line | Line k

& run Rise: 3 Rise: 4
Run: 9 Run: 6
rse _ 4 _ 2

_rse_3_1 _ 4_ 2
Slope=1n =9=73 Slope=1yn =5 =3




Algebra I Slope of an Oblique Line

The slope of a line is represented using the letter m.
For line j
Slope = %

To find the slope follow these steps.

A Step 1: Mark two points on the line.

,/ Step 2: Calculate the ‘rise’.

/ Step 3: Calculate the ‘run’.

/,
P run

7 Step 4. Use the above equation to find the slope.

rd — ] Note: The slope is always reduced to lowest terms.
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Algebral Slope of an Oblique Line
It does not matter which two points you use when finding the slope of a line.
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Algebral Slope of an Oblique Line
It does not matter which two points you use when finding the slope of a line.
This can be illustrated by picking different points on line j and k below.
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Algebra I Slope of an Oblique Line

Look at the lines shown below.

_rise
Slope = n

To find the slope follow these steps.

Step 1: Mark two points on the line.

Step 2: Calculate the ‘rise’.

Step 3: Calculate the ‘run’.

Step 4. Use the above equation to find the slope.

Note: The slope is always reduced to lowest terms.



Algebra I Slope of an Oblique Line

Look at the lines shown below. Line e and line f have the same ‘steepness’.
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Their difference is the “direction’ in which they slant.

_rise
Slope = n

To find the slope follow these steps.

/e) Step 1: Mark two points on the line.

Step 2: Calculate the ‘rise’.

Step 3: Calculate the ‘run’.

w Step 4. Use the above equation to find the slope.

Note: The slope is always reduced to lowest terms.




Algebra I Slope of an Oblique Line
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Algebra I Slope of an Oblique Line

Look at the lines shown below. Line e and line f have the same ‘steepness’.
Their difference is the “direction’ in which they slant.

This makes their slopes different as well. Slope = %
To find the slope follow these steps.
//e) Step 1: Mark two points on the line.
Step 2: Calculate the ‘rise’.
k/ Step 3. Calculate the “run’.

Step 4. Use the above equation to find the slope.

Note: The slope is always reduced to lowest terms.




Algebra I Slope of an Oblique Line

Look at the lines shown below. Line e and line f have the same ‘steepness’.
Their difference is the “direction’ in which they slant.

This makes their slopes different as well. _rise
Slope =in

To find the slope follow these steps.

/‘/e) Step 1: Mark two points on the line.

Step 2: Calculate the ‘rise’.

k/ Step 3. Calculate the “run’.

Step 4. Use the above equation to find the slope.

Note: The slope is always reduced to lowest terms.




Algebra I Slope of an Oblique Line

Look at the lines shown below. Line e and line f have the same ‘steepness’.
Their difference is the “direction’ in which they slant.

This makes their slopes different as well. _rise
Slope =in

To find the slope follow these steps.

/‘/e) Step 1: Mark two points on the line.

Step 2: Calculate the ‘rise’.

Step 3: Calculate the ‘run’.

Step 4. Use the above equation to find the slope.

Note: The slope is always reduced to lowest terms.




Algebra I Slope of an Oblique Line

Look at the lines shown below. Line e and line f have the same ‘steepness’.
Their difference is the “direction’ in which they slant.

This makes their slopes different as well. _rise
Slope =in

To find the slope follow these steps.

/‘/e) Step 1: Mark two points on the line.

Step 2: Calculate the ‘rise’.

Step 3: Calculate the ‘run’.

Step 4. Use the above equation to find the slope.

Note: The slope is always reduced to lowest terms.




Algebra I Slope of an Oblique Line

Look at the lines shown below. Line e and line f have the same ‘steepness’.
Their difference is the “direction’ in which they slant.

This makes their slopes different as well. _rise
Slope =in

To find the slope follow these steps.

/‘/e) Step 1: Mark two points on the line.

Step 2: Calculate the ‘rise’.

Step 3: Calculate the ‘run’.

Step 4. Use the above equation to find the slope.

Note: The slope is always reduced to lowest terms.




Algebra I Slope of an Oblique Line

Look at the lines shown below. Line e and line f have the same ‘steepness’.
Their difference is the “direction’ in which they slant.

This makes their slopes different as well. _rise
Slope =in

To find the slope follow these steps.

/‘/e) Step 1: Mark two points on the line.

Step 2: Calculate the ‘rise’.

Step 3: Calculate the ‘run’.

Step 4. Use the above equation to find the slope.

Note: The slope is always reduced to lowest terms.




Algebra I Slope of an Oblique Line

Look at the lines shown below. Line e and line f have the same ‘steepness’.
Their difference is the “direction’ in which they slant.

This makes their slopes different as well. _rise
Slope =in

To find the slope follow these steps.

/‘/e) Step 1: Mark two points on the line.

Step 2: Calculate the ‘rise’.

Step 3: Calculate the ‘run’.

Step 4. Use the above equation to find the slope.

Note: The slope is always reduced to lowest terms.

N f Line e




Algebra I Slope of an Oblique Line

Look at the lines shown below. Line e and line f have the same ‘steepness’.
Their difference is the “direction’ in which they slant.

This makes their slopes different as well. _rise
Slope =in

To find the slope follow these steps.

/./e) Step 1: Mark two points on the line.

Step 2: Calculate the ‘rise’.

Step 3: Calculate the ‘run’.

Step 4. Use the above equation to find the slope.

Note: The slope is always reduced to lowest terms.

N f Line e




Algebra I Slope of an Oblique Line

Look at the lines shown below. Line e and line f have the same ‘steepness’.
Their difference is the “direction’ in which they slant.

This makes their slopes different as well. Slope = %
To find the slope follow these steps.
/./e) Step 1: Mark two points on the line.
Step 2: Calculate the ‘rise’.

Step 3: Calculate the ‘run’.

Step 4. Use the above equation to find the slope.

Note: The slope is always reduced to lowest terms.

N f Line e




Algebra I Slope of an Oblique Line

Look at the lines shown below. Line e and line f have the same ‘steepness’.
Their difference is the “direction’ in which they slant.

This makes their slopes different as well. Slope = %
To find the slope follow these steps.
/./e) Step 1: Mark two points on the line.
rise Step 2: Calculate the ‘rise’.
k/ Step 3. Calculate the “run’.
s\ Step 4. Use the above equation to find the slope.

Note: The slope is always reduced to lowest terms.

N f Line e




Algebra I Slope of an Oblique Line

Look at the lines shown below. Line e and line f have the same ‘steepness’.
Their difference is the “direction’ in which they slant.

This makes their slopes different as well. Slope = %
To find the slope follow these steps.
/./e) Step 1: Mark two points on the line.
rise Step 2: Calculate the ‘rise’.
k/ Step 3. Calculate the “run’.
s\ Step 4. Use the above equation to find the slope.

Note: The slope is always reduced to lowest terms.

Line e Line f




Algebra I Slope of an Oblique Line

Look at the lines shown below. Line e and line f have the same ‘steepness’.
Their difference is the “direction’ in which they slant.

This makes their slopes different as well. Slope = %
To find the slope follow these steps.
/./e) Step 1: Mark two points on the line.
rise Step 2: Calculate the ‘rise’.
k/ Step 3. Calculate the “run’.
s\ Step 4. Use the above equation to find the slope.

Note: The slope is always reduced to lowest terms.

Line e Line f




Algebra I Slope of an Oblique Line

Look at the lines shown below. Line e and line f have the same ‘steepness’.
Their difference is the “direction’ in which they slant.

This makes their slopes different as well. Slope = %
To find the slope follow these steps.
/./e) Step 1: Mark two points on the line.
rise Step 2: Calculate the ‘rise’.
k/ Step 3. Calculate the “run’.
s\ Step 4. Use the above equation to find the slope.

Note: The slope is always reduced to lowest terms.

Line e Line f




Algebra I Slope of an Oblique Line

Look at the lines shown below. Line e and line f have the same ‘steepness’.
Their difference is the “direction’ in which they slant.

This makes their slopes different as well. Slope = %
To find the slope follow these steps.
/./e) Step 1: Mark two points on the line.
rise Step 2: Calculate the ‘rise’.
k/ Step 3. Calculate the “run’.
w Step 4. Use the above equation to find the slope.
o Note: The slope is always reduced to lowest terms.

Line e Line f




Algebra I Slope of an Oblique Line

Look at the lines shown below. Line e and line f have the same ‘steepness’.
Their difference is the “direction’ in which they slant.

This makes their slopes different as well. Slope = %
To find the slope follow these steps.
/./e) Step 1: Mark two points on the line.
rise Step 2: Calculate the ‘rise’.
k/ Step 3. Calculate the “run’.
w Step 4. Use the above equation to find the slope.
o Note: The slope is always reduced to lowest terms.

Line e Line f
~ Rise:




Algebra I Slope of an Oblique Line

Look at the lines shown below. Line e and line f have the same ‘steepness’.
Their difference is the “direction’ in which they slant.

This makes their slopes different as well. Slope = %
To find the slope follow these steps.
/./e) Step 1: Mark two points on the line.

rise | Step 2: Calculate the ‘rise’.

k/ Step 3. Calculate the “run’.

Step 4. Use the above equation to find the slope.

Note: The slope is always reduced to lowest terms.

Line e Line f
~ Rise:




Algebra I Slope of an Oblique Line

Look at the lines shown below. Line e and line f have the same ‘steepness’.
Their difference is the “direction’ in which they slant.

This makes their slopes different as well. Slope = %
To find the slope follow these steps.
/./e) Step 1: Mark two points on the line.
rise | Step 2: Calculate the “rise”.|| positive rise

k/ Step 3: Calculate the ‘run’.

Step 4. Use the above equation to find the slope.

Note: The slope is always reduced to lowest terms.

Line e Line f
~ Rise:




Algebra I Slope of an Oblique Line
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Look at the lines shown below. Line e and line f have the same ‘steepness’.
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Look at the lines shown below. Line e and line f have the same ‘steepness’.
Their difference is the “direction’ in which they slant.
This makes their slopes different as well. Slop rise

s

o

rise

—

run
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To find the slope follow these steps.

Step 1: Mark two points on the line.

1 negative rise

Step 2: Calculate the “rise’. T positive rise

Step 3: Calculate the “run’.
Step 4. Use the above equation to find the slope.

Note: The slope is always reduced to lowest terms.
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Look at the lines shown below. Line e and line f have the same ‘steepness’.
Their difference is the “direction’ in which they slant.

This makes their slopes different as well.
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To find the slope follow these steps.
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Look at the lines shown below. Line e and line f have the same ‘steepness’.
Their difference is the “direction’ in which they slant.

This makes their slopes different as well.
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Look at the lines shown below. Line e and line f have the same ‘steepness’.

Algebra I Slope of an Oblique Line

Their difference is the “direction’ in which they slant.

This makes their slopes different as well. _rise
Slope =in
To find the slope follow these steps.
e 5 | |
Step 1: Mark two points on the line.
y P P
rise { Step 2: Calculate the ‘rise’. T positive rise 1 negative rise
. ‘ s | positive run || negative run
k/ — Step 3: Calculate the ‘run’.| ™= —
w Step 4: Use the above equation to find the slope.
o Note: The slope is always reduced to lowest terms.
>~ f _ Line e _ Line f
it ~ Rise: +4 Rise: -4
Run: +8 Run: +8

_rise _ 4
Slope = run = 8
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Their difference is the “direction’ in which they slant.

This makes their slopes different as well. _rise
Slope =in
To find the slope follow these steps.
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Their difference is the “direction’ in which they slant.

This makes their slopes different as well. _rise
Slope =in
To find the slope follow these steps.
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Look at the lines shown below. Line e and line f have the same ‘steepness’.
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Their difference is the “direction’ in which they slant.

This makes their slopes different as well. _rise
Slope =in
To find the slope follow these steps.
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Look at the lines shown below. Line e and line f have the same ‘steepness’.

Algebra I Slope of an Oblique Line

Their difference is the “direction’ in which they slant.

This makes their slopes different as well. _rise
Slope =in
To find the slope follow these steps.
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k/ — Step 3: Calculate the ‘run’.| ™= —
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Look at the lines shown below. Line e and line f have the same ‘steepness’.
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Their difference is the “direction’ in which they slant.

This makes their slopes different as well. _rise
Slope =in
To find the slope follow these steps.
e 5 | |
Step 1: Mark two points on the line.
y P P
rise { Step 2: Calculate the ‘rise’. T positive rise 1 negative rise
. ‘ s | positive run || negative run
k/ — Step 3: Calculate the ‘run’.| ™= —
w Step 4: Use the above equation to find the slope.
o Note: The slope is always reduced to lowest terms.
>~ f _ Line e _ Line f
it ~ Rise: +4 Rise: -4
Run: +8 Run: +8

_rnse_a4_1 _rise _.4
Slope = N =8~ Slope = run =



Look at the lines shown below. Line e and line f have the same ‘steepness’.

Algebra I Slope of an Oblique Line

Their difference is the “direction’ in which they slant.

This makes their slopes different as well. _rise
Slope =in
To find the slope follow these steps.
e 5 | |
Step 1: Mark two points on the line.
y P P
rise { Step 2: Calculate the ‘rise’. T positive rise 1 negative rise
. ‘ s | positive run || negative run
k/ — Step 3: Calculate the ‘run’.| ™= —
w Step 4: Use the above equation to find the slope.
o Note: The slope is always reduced to lowest terms.
>~ f _ Line e _ Line f
it ~ Rise: +4 Rise: -4
Run: +8 Run: +8

_rnse_a4_1 _rise _.4
Slope =fyq =g =7 Slope = =7



Algebra I Slope of an Oblique Line

Look at the lines shown below. Line e and line f have the same ‘steepness’.
Their difference is the “direction’ in which they slant.

This makes their slopes different as well. _rise
Slope =in
To find the slope follow these steps.
e 5 | |
Step 1: Mark two points on the line.
y P P
rise { Step 2: Calculate the ‘rise’. T positive rise 1 negative rise
. ‘ s | positive run || negative run
k/ — Step 3: Calculate the ‘run’.| ™= —
w Step 4: Use the above equation to find the slope.
o Note: The slope is always reduced to lowest terms.
>~ f _ Line e _ Line f
it ~ Rise: +4 Rise: -4
Run: +8 Run: +8

_rnse_a4_1 _rise _.4 _
Slope =yq =g =7 Slope =1yn =g =



Algebra I Slope of an Oblique Line

Look at the lines shown below. Line e and line f have the same ‘steepness’.
Their difference is the “direction’ in which they slant.

This makes their slopes different as well. _rise
Slope =in
To find the slope follow these steps.
e 5 | |
Step 1: Mark two points on the line.
y P P
rise { Step 2: Calculate the ‘rise’. T positive rise 1 negative rise
. ‘ s | positive run || negative run
k/ — Step 3: Calculate the ‘run’.| ™= —
w Step 4: Use the above equation to find the slope.
o Note: The slope is always reduced to lowest terms.
>~ f _ Line e _ Line f
it ~ Rise: +4 Rise: -4
Run: +8 Run: +8

_rnse_a4_1 _rse _.4_1a
Slope=fyqn =g =7 Slope=rn =5g=3



Algebra I Slope of an Oblique Line

Look at the lines shown below. Line e and line f have the same ‘steepness’.
Their difference is the “direction’ in which they slant.

This makes their slopes different as well. _rise
Slope =in
To find the slope follow these steps.
e 5 | |
Step 1: Mark two points on the line.
y P P
rise { Step 2: Calculate the ‘rise’. T positive rise 1 negative rise
. ‘ s | positive run || negative run
k/ — Step 3: Calculate the ‘run’.| ™= —
w Step 4. Use the above equation to find the slope.
o Note: The slope is always reduced to lowest terms.
>~ f _ Line e _ Line f
it ~ Rise: +4 Rise: -4
Run: +8 Run: +8

_rnse_a4_1 _rse _.4_1a
Slope=fyqn =g =7 Slope=rn =5g=3



Algebra I Slope of an Oblique Line

/

Nl

_rise
Slope = n

To find the slope follow these steps.

Step 1: Mark two points on the line.

Step 2: Calculate the ‘rise’.

Step 3: Calculate the ‘run’.

Step 4. Use the above equation to find the slope.

Note: The slope is always reduced to lowest terms.



Algebra I Slope of an Oblique Line

In general,
€
&5
"
1
m=3
&
N
-1
m=>5
N2
N

_rise
Slope = n

To find the slope follow these steps.

Step 1: Mark two points on the line.

Step 2: Calculate the ‘rise’.

Step 3: Calculate the ‘run’.

Step 4. Use the above equation to find the slope.

Note: The slope is always reduced to lowest terms.



Algebra I Slope of an Oblique Line

In general, lines that slant up to the right

/

Nl

_rise
Slope = n

To find the slope follow these steps.

Step 1: Mark two points on the line.

Step 2: Calculate the ‘rise’.

Step 3: Calculate the ‘run’.

Step 4. Use the above equation to find the slope.

Note: The slope is always reduced to lowest terms.



Algebra I Slope of an Oblique Line

In general, lines that slant up to the right (or down to the left)

/

Nl

_rise
Slope = n

To find the slope follow these steps.

Step 1: Mark two points on the line.

Step 2: Calculate the ‘rise’.

Step 3: Calculate the ‘run’.

Step 4. Use the above equation to find the slope.

Note: The slope is always reduced to lowest terms.



Algebra I Slope of an Oblique Line

In general, lines that slant up to the right (or down to the left) have positive slopes.

/

Nl

_rise
Slope = n

To find the slope follow these steps.

Step 1: Mark two points on the line.

Step 2: Calculate the ‘rise’.

Step 3: Calculate the ‘run’.

Step 4. Use the above equation to find the slope.

Note: The slope is always reduced to lowest terms.



Algebra I Slope of an Oblique Line

In general, lines that slant up to the right (or down to the left) have positive slopes.

Lines that slant down to the right

s

/

Nl

_rise
Slope = n

To find the slope follow these steps.

Step 1: Mark two points on the line.

Step 2: Calculate the ‘rise’.

Step 3: Calculate the ‘run’.

Step 4. Use the above equation to find the slope.

Note: The slope is always reduced to lowest terms.



Algebra I Slope of an Oblique Line

In general, lines that slant up to the right (or down to the left) have positive slopes.
Lines that slant down to the right (or up to the left)

s

/

Nl

_rise
Slope = n

To find the slope follow these steps.

Step 1: Mark two points on the line.

Step 2: Calculate the ‘rise’.

Step 3: Calculate the ‘run’.

Step 4. Use the above equation to find the slope.

Note: The slope is always reduced to lowest terms.



Algebra I Slope of an Oblique Line

In general, lines that slant up to the right (or down to the left) have positive slopes.
Lines that slant down to the right (or up to the left) have negative slopes.

s

/

Nl

_rise
Slope = n

To find the slope follow these steps.

Step 1: Mark two points on the line.

Step 2: Calculate the ‘rise’.

Step 3: Calculate the ‘run’.

Step 4. Use the above equation to find the slope.

Note: The slope is always reduced to lowest terms.



Algebra I Slope of an Oblique Line
Find the slope of each line.

1. Linea: m= 2. LiInec: m=

Lineb: m= Lined: m=
— TN
a //X ‘\
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Algebra I Slope of an Oblique Line
Find the slope of each line.

1. Linea: m= 2. LiInec: m=

rise:
Lineb: m= Lined: m=
— TN
a //X ‘\
[E_—
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Algebra I Slope of an Oblique Line
Find the slope of each line.

1. Linea: m= 2. LiInec: m=

rise:
Lineb: m= Lined: m=
— TN
//x’ C —>¢\\
A ~~
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Algebra I Slope of an Oblique Line
Find the slope of each line.

1. Linea: m= 2. LiInec: m=

rise: +1
Lineb: m= Lined: m=
//x’/ ‘C\x\
a_— N
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Algebra I Slope of an Oblique Line
Find the slope of each line.

1. Linea: m= 2. LiInec: m=

rise: +1 run:
Lineb: m= Lined: m=
//x’/ ‘C\x\
a_— N
- /
/ \
\
// \
/
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Algebra I Slope of an Oblique Line
Find the slope of each line.

1. Linea: m= 2. LiInec: m=

rise: +1 run:
Lineb: m= Lined: m=
//’/ ‘C\x\
a_— N
- /
/ \
\
// \
/
b/ \
| \d




Algebra I Slope of an Oblique Line
Find the slope of each line.

1. Linea: m=
rise: +1 run: +4

2. LiInec: m=

Lineb: m= Lined: m=
//’.’// ‘C\x\\
A / ~
/s
/ \\
// \

b/ b
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Algebra I Slope of an Oblique Line

Find the slope of each line.

: 1
1. Linea: m=7%

rise: +1 run: +4

2. LiInec: m=

Lineb: m= Lined: m=
//’.’// ‘C\x\\
A / ~
// \
// \\
/
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Algebra I Slope of an Oblique Line

Find the slope of each line.

: 1
1. Linea: m=7%

rise: +1 run: +4

2. LiInec: m=

Lineb: m= Lined: m=
/x’/ ‘C\x
a//”.’/ S~
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\
// \
/
b/ \
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Algebra I Slope of an Oblique Line

Find the slope of each line.

: 1
1. Linea: m=7%

rise: +1 run: +4
Lineb: m=
rise:

2. Linec:

Line d:

m

m




Algebra I Slope of an Oblique Line

Find the slope of each line.

: 1
1. Linea: m=7%

rise: +1 run: +4
Lineb: m=
rise:

2. Linec:

Line d:

m

m




Algebra I Slope of an Oblique Line

Find the slope of each line.

: 1
1. Linea: m=7%

rise: +1 run: +4
Lineb: m=
rise: +6

2. Linec:

Line d:

m

m




Algebra I Slope of an Oblique Line

Find the slope of each line.

: 1
1. Linea: m=7%

rise: +1 run: +4
Lineb: m=

rise: +6 run:

2. Linec:

Line d:

m

m




Algebra I Slope of an Oblique Line

Find the slope of each line.

: 1
1. Linea: m=7%

rise: +1 run: +4
Lineb: m=

rise: +6 run:

2. Linec:

Line d:

m

m




Algebra I Slope of an Oblique Line

Find the slope of each line.

1. Linea: m= zl
rise: +1 run: +4
Lineb: m=

rise; +6 run: +4

2. Linec:

Line d:

m

m




Algebra I Slope of an Oblique Line

Find the slope of each line.

1. Linea: m= zl
rise: +1 run: +4
Lineb: m=-2

rise; +6 run: +4

2. LiInec: m=
Lined: m=
TN
C \\\
N




Algebra I Slope of an Oblique Line

Find the slope of each line.

1. Linea: m= zl
rise: +1 run: +4
Lineb: m=23=

rise; +6 run: +4

2. LiInec: m=
Lined: m=
TN
C \\\
N




Algebra I Slope of an Oblique Line

Find the slope of each line.

: 1
1. Linea: m=7%
rise: +1 run: +4

ine b: -6_-3
Lineb: m=7=5

rise; +6 run: +4

2. LiInec: m=
Lined: m=
TN
C \\\
N




Algebra I Slope of an Oblique Line
Find the slope of each line.
1. Linea: m= zl 2. Linec: m=
rise: +1 run: +4
Lineb: m=2=3 Lined: m=

rise: +6 run: +4
Do not write the slope as a mixed number.
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Algebra I Slope of an Oblique Line

Find the slope of each line.

: 1
1. Linea: m=7%
rise: +1 run: +4

ine b: -6_-3
Lineb: m=7=5

rise; +6 run: +4

2. LiInec: m=
Lined: m=
TN
C \\\
N




Algebra I Slope of an Oblique Line

Find the slope of each line.

: 1
1. Linea: m=7%
rise: +1 run: +4

ine b: -6_-3
Lineb: m=7=5

rise; +6 run: +4

2. Linec: m=
rise:
Lined: m=
TN
C \\\
N




Algebra I Slope of an Oblique Line

Find the slope of each line.

: 1
1. Linea: m=7%
rise: +1 run: +4

ine b: -6_-3
Lineb: m=7=5

rise; +6 run: +4

2. Linec: m=
rise:
Lined: m=
TN
C \\\
N




Algebra I Slope of an Oblique Line

Find the slope of each line.

: 1
1. Linea: m=7%
rise: +1 run: +4

ine b: -6_-3
Lineb: m=7=5

rise; +6 run: +4

2. LiInec: m=
rise: -4
Lined: m=
TN
- C \\\




Algebra I Slope of an Oblique Line

Find the slope of each line.

: 1
1. Linea: m=7%
rise: +1 run: +4

ine b: -6_-3
Lineb: m=7=5

rise; +6 run: +4

2. Linec:
rise: -4

Line d:

m
run.

m




Algebra I Slope of an Oblique Line

Find the slope of each line.

: 1
1. Linea: m=7%
rise: +1 run: +4

ine b: -6_-3
Lineb: m=7=5

rise; +6 run: +4

2. Linec:
rise: -4

Line d:

m
run.

m




Algebra I Slope of an Oblique Line
Find the slope of each line.

1. Linea: m= zl 2. Linec: m=
rise: +1 run: +4 rise: -4 run: +10
Lineb: m=2=3 Lined: m=

rise; +6 run: +4




Algebra I Slope of an Oblique Line
Find the slope of each line.

1. Linea: m= zl 2. Linec: m= %
rise: +1 run: +4 rise: -4 run: +10
Lineb: m=2=3 Lined: m=

rise: +6 run: +4
— TN
/,x’ - C 5‘\\‘
a///x N
/ N




Algebra I Slope of an Oblique Line
Find the slope of each line.

1. Linea: m= zl 2. Linec: m= % =
rise: +1 run: +4 rise: -4 run: +10
Lineb: m=2=3 Lined: m=

rise: +6 run: +4
— TN
/,x’ - C 5‘\\‘
:a/,/’. TN
// SN




Algebra I Slope of an Oblique Line
Find the slope of each line.

: 1 : 4 _ -

1. Linea: m=7%4 2. Linec: m:E:—g

rise: +1 run: +4 rise: -4 run: +10

Lineb: m=2=3 Lined: m=
rise: +6 run: +4
— TN
/’x/ [ C *x\
- = S
73‘/,/ N
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Algebra I Slope of an Oblique Line
Find the slope of each line.

: 1 : 4 _ -

1. Linea: m=7%4 2. Linec: m:E:—g

rise: +1 run: +4 rise: -4 run: +10

Lineb: m=2=3 Lined: m=
rise: +6 run: +4
— TN
//x/ [ C *x\
- = S
73‘/,/ N
// SN




Algebra I Slope of an Oblique Line
Find the slope of each line.

: 1 : 4 _ -

1. Linea: m=7%4 2. Linec: m:E:—g

rise: +1 run: +4 rise: -4 run: +10

Lineb: m=2=3 Lined: m=
rise; +6 run; +4 rise:
— TN
//x/ [ C *x\

- - ~

ad N
[E_—
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Algebra I Slope of an Oblique Line
Find the slope of each line.

: 1 : 4 _ -

1. Linea: m=7%4 2. Linec: m:E:—g

rise: +1 run: +4 rise: -4 run: +10

Lineb: m=2=3 Lined: m=
rise; +6 run; +4 rise:
— TN
//x/ [ C *x\

- - ~

ad N
[E_—

// e




Algebra I Slope of an Oblique Line
Find the slope of each line.

: 1 : 4 _ -

1. Linea: m=7%4 2. Linec: m:E:—g

rise: +1 run: +4 rise: -4 run: +10

Lineb: m=2=3 Lined: m=
rise: +6 run: +4 rise: -6
— TN
//x/ [ C *x\
- = S
73‘/,/ N
// SN




Algebra I Slope of an Oblique Line
Find the slope of each line.

: 1 ; 4 -
1. Linea: m=4 2. Line c: m:E:—g
rise: +1 run: +4 rise: -4 run: +10
Lineb: m=2=3 Lined: m=
rise: +6 run: +4 rise: -6 run;
— TN
//x’ - C —>¢\\
- = S
A ~
/ ~—
N~
/ e




Algebra I Slope of an Oblique Line
Find the slope of each line.

: 1 ; 4 -
1. Linea: m=4 2. Line c: m:E:—g
rise: +1 run: +4 rise: -4 run: +10
Lineb: m=2=3 Lined: m=
rise: +6 run: +4 rise: -6 run;
— TN
//x’ - C —>¢\\
- = S
A ~
/ ~—
N~
/ e




Algebra I Slope of an Oblique Line
Find the slope of each line.

: 1 ; 4 -

1. Linea: m=4 2. Line c: m:E:—g

rise: +1 run: +4 rise: -4 run: +10

Lineb: m=2=3 Lined: m=
rise: +6 run: +4 rise: -6 run: +3
— TN
//x’ - C —>¢\\
- = S
A ~
/ ~—




Algebra I Slope of an Oblique Line
Find the slope of each line.

: ; 4 -
1. Line a: m:zl 2. Linec: m:E:—g
rise: +1 run: +4 rise: -4 run: +10
: : —_6_3 : : — -6
Lineb: m=7=5 Lined: m=3
rise: +6 run: +4 rise: -6 run: +3
— TN
//x’ - C \\‘
a///x N
// SN




Find the slope of each line.

Algebra I Slope of an Oblique Line

2. Linec:

_ 4 _ -2
M=10= 75

run: +10

- . _ -6 _
Line d: m=3 =

rise; -4

rise: -6 run: +3

- C e

1. Linea: m= zl
rise: +1 run: +4
: : - 6_3
Lineb: m=7=5
rise; +6 run; +4
— =
a——"
/
r "
/
/
b/
|




Algebra I Slope of an Oblique Line
Find the slope of each line.

1. Linea: m:zl 2. Linec: m:%:%
rise: +1 run: +4 rise: -4 run: +10
: : - 6_3 : : — -6 _
Lineb: m=7=5 Lined: m=3 =22
rise: +6 run: +4 rise: -6 run: +3
— TN
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Algebra I Slope of an Oblique Line
Find the slope of each line.

: ; 4 -
1. Line a: m:zl 2. Linec: m:E:—g
rise: +1 run: +4 rise: -4 run: +10
: : - 6_3 : : — -6 _
Lineb: m=7=5 Lined: m=3 =22
rise: +6 run: +4 rise: -6 run: +3
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A N
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Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.

3. y=2x+1 m= 4, y=-3x+2 m=
A AY
X |y X1y
_2 5 _2 5
1] a
o] e+t o <t
RO 1
2 5 2 5




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.

3. y=2x+1 m= 4, y=-3x+2 m=
A AY
X |y X1y
2] 5 2 :
i_ -1
ol St~ o] Pt
RO 1
2 5 2 5




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.

3. y=2x+1 m= 4, y=-3x+2 m=
A AY
X |y X1y
2] 5 2 :
Li -1
ol St~ o] Pt
RO 1
2 -5 2 -5




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.

3. y=2x+1 m= 4, y=-3x+2 m=
AY AY
X |y X1y
213 : 2 5
Li 1
ot Syt o] S
N - 1
2 -5 2 -5




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.

3. y=2x+1 m= 4, y=-3x+2 m=
A A
X |y X1y
2|3 i -2 i
Li -1
o1 et o] ¢+t
11]3 1
2 -5 2 -5




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.

3. y=2x+1 m= 4, y=-3x+2 m=
A AY

X |y X1y
-2 |-3 ? ) 5
At il
0f1 — 3 t > o ¢ + 3 t >
HE 1l

2 |5 5 2] 3




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.

3. y=2x+1 m= 4, y=-3x+2 m=
A AY

X |y X1y
-2 |-3 ? ) 5
At il
0f1 — 3 t > o ¢ + 3 t >
HE : 1l

2 |5 5 2] 3




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.

3. y=2x+1 m= 4, y=-3x+2 m=
A AY

X |y X1y
-2 |-3 ? ) 5
At il
Li g 5 o’ 5 > T_ S 5 0 5 >
HE : 1l

2 |5 5 2] 3




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.

3. y=2x+1 m= 4, y=-3x+2 m=
A AY

X |y X1y
-2 |-3 ? ) 5
At . il
Li g 5 o’ 5 > T_ S 5 0 5 >
HE : 1l

2 |5 5 2] 3




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.

3. y=2x+1 m= 4, y=-3x+2 m=
A A

X |y X1y
2]3 : 2 :

1 |-1 ? 1
Li § 5 ol 5 P L_ S 5 0 5 >
ils - ]
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Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.

3. y=2x+1 m= 4, y=-3x+2 m=
AY AY

X |y X1y

-2 |-3 T1°° -2 3

EREl ? EN
Li § 5 ol 5 P L_ S 5 0 5 >
ils - ]

215 5 2 5




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.

3. y=2x+1 m= 4, y=-3x+2 m=
AY AY
X1YVY / X1y
23 T/ -2 :
ENE / g
oL S o S
1[3 / 1
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Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.

3. y=2x+1 m= 4, y=-3x+2 m=
A AY

|y Co Xl
23 T/ -2 :
o / Al
01 7% 41 5 > E: NEE 0 5 4
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Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.

3. y=2x+1 m= 4, y=-3x+2 m=
rise.
A AY

<]y o X|Y
23 T/ -2 :
o / Al
01 7% 41 5 > E: NEE 0 5 4
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Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.

3. y=2x+1 m= 4, y=-3x+2 m=
rise.
A AY

<]y o X|Y
23 T/ -2 :
o / Al
01 7% 41 5 > E: NEE 0 5 4
1138 4 R

2|5 5 2 5




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.

3. y=2x+1 m= 4, y=-3x+2 m=
rise: +8
A AY

<]y o X|Y
23 T/ -2 :
o / Al
01 7% 41 5 > E: NEE 0 5 4
1138 4 R

215 5 2 5




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.

3. y=2x+1 m= 4, y=-3x+2 m=
rise: +8 run:
A AY

<]y e Xy
23 T/ -2 :
o / Al
01 7% 41 5 > E: NEE 0 5 4
1138 4 R
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Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.

3. y=2x+1 m= 4, y=-3x+2 m=

rise: +8 run:

N T T ~

X1y y=2x+1 X1y
2|3 5 2 5
ENE / g
Li § -5 / . 5 P L_ S 5 0 5 >
1138 ¥ 1

215 -5 2 5




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.
3. y=2x+1 m= 4, y=-3x+2 m=
rise: +8 run: +4

N T T ~
X1y y=2x+1 X1y
2[5 5 2 5
ENE / g
ot A o e
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Algebra I Slope of an Oblique Line

Graph each equation, and then find the slope of the line.
8

3. y=2x+1 m= 7 4, y=-3x+2 m=
rise: +8 run: +4
N T T ~N
X1y y=2x+1 X1y
2|3 5 2 5
ENE / g
ot T o
1{3 4 1
215 -5 2 5




Algebra I Slope of an Oblique Line

Graph each equation, and then find the slope of the line.
8

3. y=2x+1 m= 7 = 4, y=-3x+2 m=
rise: +8 run: +4
N T ~N
X1y y=2x+1 X1y
2|3 : 2 :
ENE / g
ot e o e
1[3 ¥ 1
215 -5 2 5




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.
3. y=2x+1 m= 2 =2 4, y=-3x+2 m=
rise: +8 run: +4

N T T ~
X1y y=2x+1 X1y
2[5 5 2 5
ENE / g
ot A o e
e J .
715 5 9 5




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.
3. y=2x+1 m= 2 =2 4, y=-3x+2 m=
rise: +8 run: +4

A AY
|y e x|y
2] 5 2 e 5
o / Al
01 7% 41 5 > E: NEE 0 5 4
13 4 I
215 -5 2 5




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.
3. y=2x+1 m= 2 =2 4, y=-3x+2 m=
rise: +8 run: +4

i i N
X1y y=2x+1 X1y
2[5 5 28 5
ENE / E
0|1 ¢— ; > 0 < ; >
—_t S / 5 —_1 -5 5
[ 4 1
215 -5 2 5




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.
3. y=2x+1 m= 2 =2 4, y=-3x+2 m=
rise: +8 run: +4

A AY
|y e x|y
2[5 5 28 5
At / 4]5
I S man £ aund EZ R ' >
13 4 I
215 -5 2 5




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.
3. y=2x+1 m= 2 =2 4, y=-3x+2 m=
rise: +8 run: +4

A AY
x| yezer XY
213 : 218 :
o / 15
ot e o e
ils ¥ 1]
2 |5 5 2] 3




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.
3. y=2x+1 m= 2 =2 4, y=-3x+2 m=
rise: +8 run: +4

A AY
x|y e XY
25 5 26 5
R / L]0
ot e o e
EER / 11
2 | 5 3 2[4 :




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.
3. y=2x+1 m= 2 =2 4, y=-3x+2 m=
rise: +8 run: +4

A o A
x|y e XY
25 5 26 5
R / L]0
ot e o e
EER / 11
2 | 5 3 2[4 :




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.
3. y=2x+1 m= 2 =2 4, y=-3x+2 m=
rise: +8 run: +4

A o A
x|y I A
213 5 2]s :
o / 15
ot e o e
ils ¥ 1]
2 | 5 3 2[4 :




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.
3. y=2x+1 m= 2 =2 4, y=-3x+2 m=
rise: +8 run: +4

A o AN
x|y o1 XY
213 5 2]e :
ii // 115 ¢
ot e o e
e ¥ 11
2 | 5 3 2[4 :




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.
3. y=2x+1 m= 2 =2 4, y=-3x+2 m=
rise: +8 run: +4

A o AN
x|y o1 XY
215 5 28 :
ii // -1 15 ¢
o erpE e ol e
ils ¥ 1]
2 | 5 3 2[4 :




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.
3. y=2x+1 m= 2 =2 4, y=-3x+2 m=
rise: +8 run: +4

N T o« N
X y y=2x+1 X y
2] 5 2 | :
SN e 4 15 -
Li § -5 / . 5 P Li < 5 e 5 >
1[3 4 211 |
215 -5 2 |-4 5




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.
3. y=2x+1 m= 2 =2 4, y=-3x+2 m=
rise: +8 run: +4

V.

x|y T er XY A
2|3 : 28

e / 1[5

ol AT o2 e
ils ¥ 1]

>[5 5 2 |4




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.
3. y=2x+1 m= 2 =2 4, y=-3x+2 m=
rise: +8 run: +4

|y T fos x| T

2|3 : 2|8 \

SN e V s \

ot e o e

113 4 At \

2 |5 -2 ii ? \\y:-3x+2
J NI




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.

3. y=2x+1 m:%:z 4, y=-3x+2 m=

rise: +8 run: +4 rise:

AY AY
T T T

X1y y=2x+1 X1y *\
2]3 1 2]8 \
-1 |-1 115
— 1. Z / \X 1 ~ Z \\ \X
Li ) -5 / . 5 ’ Li ) 5 “\ 5 r
13 f EiEY \

Sk 1 —= i \vy R




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.

3. y=2x+1 m:%:z 4, y=-3x+2 m=

rise: +8 run: +4 rise:

AY AY
T T T

X1y y=2x+1 X1y *\
2]3 1 2]8 \
-1 |-1 115
— 1. Z / \X 1 ~ Z \\ \X
Li ) -5 / . 5 ’ Li ) 5 “\ 5 r
13 f EiEY \

Sk 1 —= i \vy R




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.

3. y=2x+1 m= 2 =2 4, y=-3x+2 m=

rise: +8 run: +4 rise: -9

AY AY
T T T

X1y y=2x+1 X1y *\
2]3 1 2]8 \
-1 |-1 115
— 1. Z / \X 1 ~ Z \\ \X
Li ) -5 / . 5 ’ Li ) 5 “\ 5 r
13 f EiEY \

=10 i ii i \‘ly ik




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.

3. y=2x+1 m:%:z 4, y=-3x+2 m=

rise: +8 run: +4 rise: -9  run:

/\y /\y
T T T

X1y y=2x+1 X1y *\
2]3 1 2]8 \
-1 1-1 -115
— 1. / / \ X 1 ~ / \\ \ X
Li ) -5 / . 5 ’ Li ) 5 “\ 5 r
EES / il \

L0 1 ii i \Ny ik




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.

3. y=2x+1 m:%:z 4, y=-3x+2 m=

rise: +8 run: +4 rise: -9  run:

/\y /\y
T T T

X1y y=2x+1 X1y *\
2]3 1 2]8 \
-1 1-1 -115
— 1. / / \ X 1 ~ / \\ \ X
Li ) -5 / . 5 ’ Li ) 5 “\ 5 r
HE / FEN §E

L0 1 ii i \Ny ik




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.
3. y=2x+1 m= 2 =2 4, y=-3x+2 m=

rise;: +8 run; +4 rise: -9 run: +3

/\y /\y

T T T

X1y y=2x+1 X1y *\
2]3 1 2]8 \
-1 1-1 -115
1 . / / \ X 1 ~ / \\ \
Li ) -5 / . 5 ’ Li ) 5 “\ 5 r
EEN / FEN H\
Sk 1 —= i \vy R




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.
3. y=2x+1 m:%:z 4, y=-3x+2 m:_—g

rise;: +8 run; +4 rise: -9 run: +3

/\y /\y

T T T

X1y y=2x+1 X1y *\
2]3 1 2]8 \
-1 1-1 -115
1 . / / \ X 1 ~ / \\ \
Li ) -5 / . 5 ’ Li ) 5 “\ 5 r
EEN / FEN H\
Sk 1 —= i \vy R




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.

3. y=2x+1 m= 4 =2 4, y=-3x+2 m=73 =
rise: +8 run: +4 rise: -9 run: +3
A AY
T T T

X1y y=2x+1 X1y *\
2]3 1 2]8 \
-1 ]-1 115
1. y. / \ X 1 ~ y \\
ot CpEr olr SR
HE / EEN S
215 -5 2 |-4 5




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.

3. y=2x+1 m= 3 =2 4. y=3x+2 m=73=-3

rise: +8 run: +4 rise: -9 run: +3

/\y /\y
T T

X1y y=2x+1 X1y *\
2]3 1 2]8 \
-1 -1 115
P / \ X ~ |~ \\ >
U S B S 4 D O U 2 "} [
13 ¥ EiEN 1\

215 ==




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.

3. y=2x+1 m= 2 =2

rise: +8 run: +4

AY

-2 |-3 ?
iy /
EZ R £ g
118 4

215 5

What do you observe?

4, y=-3x+2 m:'%:-3
rise: -9 run: +3
/\y
XYy ’°\
2|8 \
1[5 {
1A L \ N
012 N 5 0\ 5 d
1l o
214 \ y=3x+2
SN




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.

3. y=2x+1 m= 3 =2 4. y=3x+2 m=73=-3
rise: +8 run: +4 A rise: -9 run: +3
/\y /\y
T T T
X1y y=2x+1 X1y *\
2]3 : 2]8 \
-1 |1 4 115 %
1. Z / \X 1 ~ Z \
oL SEpp R 002 SRR
HE / EEN S
2|5 3 2 |-4 ST y=
—_— \ Y
) "4 ) "4 w‘

What do you observe?



Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.

3. y=2x+1 m= 3 =2 4. y=3x+2 m=73=-3

rise: +8 run: +4 A rise: QT‘ run: +3 A

/\y /\y
T T

X1y y=2x+1 X1y *\
2]3 : 2]8 \
-1 ]-1 4 115 t
— p / \X S p \ X
Li ) 5 / . 5 ’ Li ) 5 0\ 5 r
EEN / FEN H\

Sk 1 —= i \vy R

What do you observe?



Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.

5. y=75x-3 m= 6. y=%5x+1 m=
A AY
X |y X1y
4 5 6 5
2] Y
o] e+t o <t
2] 3
4 3 6 .




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.

5. y=75x-3 m= 6. y=%5x+1 m=
A AY
X |y X1y
4]s 5 5 5
K . -3
o] e+t o <t
2] 3
4 3 6 .




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.

5. y=75x-3 m= 6. y=%5x+1 m=
A AY
X |y X1y
4]s 5 5 5
2[4 3
o] e+t o <t
2] 3
4 3 6 .




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.

5. y=75x-3 m= 6. y=%5x+1 m=
A AY
X |y X1y
415 5 5 5
2[4 3
ol 7+t o] <
2] 3
4 5 6| 5




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.

5. y=75x-3 m= 6. y=%5x+1 m=
AY AY
X |y X1y
415 5 5 5
2[4 3
o Syt o SE—7F
2] 3
4 5 6| 5




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.

5. y=75x-3 m= 6. y=%5x+1 m=
A AY

X |y X1y

A5 ; 6 ;

214 sl

Li S 5 0 5 > T_ < -5 0 5 >
2 [-2 3

N : o




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.

5. y=>x-3 m = 6. y=%x+1 m =
A AY
X1y X1y
4ls : E :
2[4 3
o3 et~ o] <+t
2] 3
i . o




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.

5. y=75x-3 m= 6. y=%5x+1 m=
A AY
X |y X1y
4]s 5 5 5
2[4 3
ol 7+t o] <
2 |-2 3
—— ® ——
4 |1 * 5 6 3




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.

5. y=75x-3 m= 6. y=%5x+1 m=
A AY
X |y X1y
415 5 E 5
2[4 3
ol 7+t o] <
2 1-2 ¢ 3
—— ® ——
4 |1 * 5 6 3




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.

5. y=75x-3 m= 6. y=%5x+1 m=
AY AY
X |y X1y
“ls 5 -6 5
2 [ £
Li § 5 . LS P L_ S 5 0 5 >
2 |-2 ¢ 3
—— ® ——
4 |-1 5 6 -5




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.

5. y=75x-3 m= 6. y=%5x+1 m=
AY AY
X |y X1y
“ls 5 -6 5
2 [ £
Li § 5 . ®5 P L_ S 5 0 5 >
2 |-2 S 3
—— ® ——
4 |-1 5 6 -5




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.

5. y=>x-3 m = 6. y=%x+1 m =
A AY
X |y X1y
45 ; E ;
2 |-4 -3
— 1 ~ / 7\X -— 1 / \X
0538 7= “/_/-‘5 7 Ol 573 0 s 7
2]2 A 3
4 |-1 A5 6 5
F ) "4 - YV




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.

5. y=75x-3 m= 6. y=%5x+1 m=
AY AY

X |y X1y
4]5 5 E 5
-2 |4 -3
— 1 ~ Z 7\X -— 1 / \X
013 5= “/_/-‘5 mikg Ol 575 0 : 7
2 |-2 A 3
1= p= —1
4 '1 /’( -3 6 -5

fy:—%x—B —_—




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.

5. y=75x-3 m= 6. y=3x+1 m=

rise:

AY A

X |y X1y
415 ; E :
-2 |4 -3
— 1 ~ / 7\X -— 1 / \X
O3 5775 “/_/-‘5 7 Ol 575 0 |
2 |-2 A 3
_— e _

4 '1 /’( -3 6 -5

fy:—%x—B —_—




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.

5. y=>x-3 m = 6. y=%x+1 m =
rise:
A AY

XYy X1y
A5 i 5 5
-2 |4 -3
1 ~ y. AR -1 y. \ X
O3 5775 “/_/-‘5( ’ Ol 573 0 |
2 |-2 A 3
i T o~ —
4 '1 /’( -3 6 -5

fy:—%x—B —_—




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.

5. y=75x-3 m= 6. y=%5x+1 m=

rise: +4

A A

X |y X1y
A5 5 5 5
-2 |-4 -3
1 ~ Z 7\X N Z \X
013 75 “/_/-‘5 mikg Ol 7= 0 s 7
2 |-2 y g 3
i T o~ —

4 '1 /’( -3 6 =5

fy:—%x—B —




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.

5. y=75x-3 m= 6. y=%5x+1 m=
rise: +4 run:
A AY

X |y X1y
415 5 S 5
214 sl
013 yEuR: Sk mid O] yEuR: : 5 >
22 pes as i
4 -1 AT 6 5

A -




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.

5. y=75x-3 m= 6. y=%5x+1 m=
rise: +4 run:
AY AY

X |y X1y
A5 5 5 5
2|4 3
0[3 ¢——F—+> o ———+>
2]z i 3
el il // 31
4 '1 /’( -3 6 -5

fy:—%x—B —_—




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.
5. y=75x-3 m= 6. y=%5x+1 m=
rise: +4 run: +8

A AY

X |y X1y
s 5 L 5
2] E
0[3 ¢——F—+> o ———+>
BE - ST
el il // 31
4 '1 /’( -3 6 -5

fy:—%x—B —_—




Algebra I Slope of an Oblique Line

Graph each equation, and then find the slope of the line.

5. y=>x-3 m:% 6. y=%5x+1 m=

rise: +4 run: +8

A AY

X |y X1y
s 5 L 5
2] E
0[3 ¢——F—+> o ———+>
BE - ST
el il // 31
4 '1 /’( -3 6 -5

fy:—%x—B —_—




Algebra I Slope of an Oblique Line

Graph each equation, and then find the slope of the line.

5. y=>x-3 m:%: 6. y=%x+1 m=

rise: +4 run: +8

A AY

X |y X1y
s 5 L 5
2] E
0[3 ¢——F—+> o ———+>
BE - ST
el il // 31
4 '1 /’( -3 6 -5

fy:—%x—B —_—




Algebra I Slope of an Oblique Line

Graph each equation, and then find the slope of the line.

5. y=>x-3 m:%:—; 6. y=%x+1 m=

rise: +4 run: +8

A AY

X |y X1y
s 5 L 5
2] E
0[3 ¢——F—+> o ———+>
BE - ST
el il // 31
4 '1 /’( -3 6 -5

fy:—%x—B —_—




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.

5. y=>x-3 m:%:—; 6. y=%x+1 m=

rise: +4 run; +8

AY AY

X |y X1y
415 5 AE 5
2[4 3

0[3 ¢——F—+> o ———+>
22 ¥ BN
el il // 31

4 '1 /’( -3 6 -5

fy:—%x—B —_—




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.

5. y=>x-3 m:%:—; 6. y=%x+1 m=
rise: +4 run; +8
AY AY

X |y X1y
415 5 AE 5
2[4 33
0[3 ¢——F—+> o ———+>
22 ¥ BN
el il // 31
4 '1 /’( -3 6 -5

fy:—%x—B —_—




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.

5. y=>x-3 m:%:—; 6. y=%x+1 m=
rise: +4 run; +8
A AY

X |y X1y
415 5 AE 5
2]4 3|3
ol3 ¢——f—> 0[1 < >
2|2 oA Bl
4 '1 /’( =S 6 -5

fy:—%x—B —_—




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.

5. y=>x-3 m:%:—; 6. y=%x+1 m=
rise: +4 run; +8
AY AY

X |y X1y
415 5 AE 5
2]4 3|3
ol3 ¢——f—> 0[1 < >
2]2 per ol 3
4 '1 /’( -3 6 -5

fy:—%x—B —_—




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.

5. y=>x-3 m:% :—; 6. y=%5x+1 m=
rise: +4 run: +8
A AY

X |y X1y
A5 5 Gl 5
2|4 3 [3
O3 g S : 5 = EZ EE: ’ 5 4
2]z por as ElEN
4 |-1 /_/r S 6 1-3 5

Mysexs -




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.

5. y=>x-3 m:%:—% 6. y=%5x+1 m=
rise: +4 run: +8
A AY

X |y X1y
A5 5 Bls e
2|4 3 [3
O3 g S : 5 = EZ EE: ’ 5 4
2]z por as ElEN
4 |-1 /_/r S 6 1-3 5

Mysexs -




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.

5. y=>x-3 m:%:—% 6. y=%5x+1 m=
rise: +4 run: +8
A AY

X |y X1y
415 5 I ER
214 3 |3 ‘
03 ) S ° 5 msd EZ NEED : 5 4
22 pes as E1EN
4 |-1 /_{ S 6 1-3 5

Mysexs -




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.

5. y=>x-3 m:%:—% 6. y=%5x+1 m=
rise: +4 run: +8
A AY

X |y X1y
415 5 I ER
214 3 |3 ‘
03 ) S ° 5 msd EZ NEED ." 5 4
22 pes as E1EN
4 |-1 /_{ S 6 1-3 5

Mysexs -




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.

5. y=>x-3 m:%:—; 6. y=%x+1 m=
rise: +4 run; +8
/\y \y

X |y X1y
415 5 5ls
214 3|3 T
ofs e ol e
212 peall 31
4 '1 /’( -5 6 '3

fy:—%x—B —_—




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.

5. y=>x-3 m:%:—; 6. y=%x+1 m=
rise: +4 run; +8
/\y \y

X |y X1y
415 5 5ls
214 3|3 T
ofs e ol e
212 peall 31
4 '1 /’( -5 6 '3

fy:—%x—B —_—




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.

5. y=>x-3 m:%:—; 6. y=%x+1 m=
rise: +4 run; +8
AY AY

X |y X1y
415 ; o5 N
214 813 \.\\.\

0 [-3 S -5 0 5 <5 0]1 < 5 0 \\5 >
—— a / c——— \‘
212 peall 31 Rey

4 'l /’( -5 6 '3 -5

% y:—%x—B —_—




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.

5. y=>x-3 m:%:—; 6. y=%x+1 m=

rise: +4 run; +8
AY - AY

X1y X1y -2

y=%4x+1
415 ; o5 N
214 813 \.\\.\

0 [-3 S -5 0 5 <5 0]1 < 5 “\\5 >
—— a / c——— \‘
212 peall 31 Rey

4 'l /’( -5 6 '3 -5

fy:—%x—B —_—




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.

5. y=>x-3 m:%:—; 6. y=%x+1 m=

rise: +4 run: +8 rise:
AY - AY

X1y X1y T, -2

y=%4x+1
415 ; o5 N
214 813 \.\\.\

0 [-3 S -5 0 5 <5 0]1 < 5 “\\5 >
—— a / c——— \‘
212 peall 31 N

4 'l /’( -5 6 '3 -5

fy:—%x—B —




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.

5. y=>x-3 m:%:—; 6. y=%x+1 m=

rise: +4 run: +8 rise:
AY - AY

X1y X1y T, -2

y=%4x+1
415 ; o5 N
214 813 \.\\.\

0 [-3 S -5 0 5 <5 0]1 < 5 “\\5 >
—— a / c——— \‘
212 peall 31 N

4 'l /’( -5 6 '3 -5

fy:—%x—B —




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.

5. y=>x-3 m:%:—; 6. y=%x+1 m=
rise: +4 run: +8 rise: -6
AY - AY

X1y X1y T 2

y=%4x+1
415 ; o5 N
214 813 \.\\.\

0 [-3 S -5 0 5 <5 0]1 < 5 “\\5 >
—— a / c——— \‘
212 peall 31 N

4 'l /’( -5 6 '3 -5

fy:—%x—B —_—




Algebral Slope of an Oblique Line
Graph each equation, and then find the slope of the line.
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m is the slope and b is the y-intercept !!!
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Algebra I Graphing horizontal and vertical lines

Graph each of the following equations. Label each graph with its equation.
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11. y=3
y 5
12. y=-5
. L X
13. x=4 < . >
-5 5
14. x=-7
-5
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Algebra I Graphing horizontal and vertical lines

Graph each of the following equations. Label each graph with its equation.

y
Every point on this line has a y-coordinate of 3.
11. y=3 1
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Algebra I Graphing horizontal and vertical lines
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Every point on this line has a y-coordinate of -5. —
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Thesgare examples of horizontal lines.
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Graph each of the following equations. Label each graph with its equation.
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Graph each of the following equations. Label each graph with its equation.
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Horizontal Lines : y=Kk



Algebra I Graphing horizontal and vertical lines

Graph each of the following equations. Label each graph with its equation.

11.

12.

13.

14.

AY
y=3 5
y=-3 1=
x=4 —+ >
X =-7 y=-5
—_ e E

WV

Horizontal Lines : y=Kk



Algebra I Graphing horizontal and vertical lines

Graph each of the following equations. Label each graph with its equation.

11.

12.

13.

14.

AY
y=3 5
y=-3 1=
x=4 —+ >
X =-7 y=-5
—_ e E

WV

Horizontal Lines : y=Kk



Algebra I Graphing horizontal and vertical lines

Graph each of the following equations. Label each graph with its equation.

11.

12.

13.

14.

AY
y=3 5
y=-3 1=
x=4 —+ >
X =-7 y=-5
—_ e E

WV

Horizontal Lines : y=Kk
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Graph each of the following equations. Label each graph with its equation.
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Graph each of the following equations. Label each graph with its equation.
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13. x=4 < -
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14. x=-7
J

Every point on this line has
Horizontal Lines : y=k  an x-coordinate of 4.
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Every point on this line has
Horizontal Lines : y =k | anx-coordinate of 4. Right?
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Graph each of the following equations. Label each graph with its equation.
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Algebra I Graphing horizontal and vertical lines

Graph each of the following equations. Label each graph with its equation.

A
11. y=3
12. y=-5
13. x=4 <
14. x=-7
Every point on this line has

an x-coordinate of -7. \ 74

Horizontal Lines : y=Kk



Algebra I Graphing horizontal and vertical lines

Graph each of the following equations. Label each graph with its equation.
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11. y=3

12. y=-5

13. x=4 £

14. x=-7
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Graph each of the following equations. Label each graph with its equation.
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12. y=-5

13. x=4 £

14. x=-7
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Horizontal Lines : y=Kk



Algebra I Graphing horizontal and vertical lines

Graph each of the following equations. Label each graph with its equation.
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11. y=3

12. y=-5

13. x=4

14. x=-7
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Horizontal Lines : y=Kk



Algebra I Graphing horizontal and vertical lines

Graph each of the following equations. Label each graph with its equation.

A

11. y=3

12. y=-5

13. x=4

14. x=-7

WV

Horizontal Lines : y=Kk



Algebra I Graphing horizontal and vertical lines

Graph each of the following equations. Label each graph with its equation.

e~ AN
11. y=3
12. y=-5§
13. x=4
14. x=-7

These are examples of vertical lines.

Horizontal Lines : y=Kk



Algebra I Graphing horizontal and vertical lines

Graph each of the following equations. Label each graph with its equation.

e~ AN
11. y=3
12. y=-5§
13. x=4
14. x=-7

These are examples of vertical lines.

Horizontal Lines : y=Kk

Vertical Lines :



Algebra I Graphing horizontal and vertical lines

Graph each of the following equations. Label each graph with its equation.

e~ AN
11. y=3
12. y=-5§
13. x=4
14. x=-7

These are examples of vertical lines.

Horizontal Lines : y=Kk

Vertical Lines : x=k



Algebra I Graphing horizontal and vertical lines

Graph each of the following equations. Label each graph with its equation.

A

11. y=3

12. y=-5

13. x=4

14. x=-7

J
Horizontal Lines : y=Kk

Vertical Lines : x=k



Algebra I Graphing horizontal and vertical lines

Graph each of the following equations. Label each graph with its equation.

11. y=3

12. y=-5

Good luck on your homework

14. xX=-7/

J
Horizontal Lines : y=Kk

Vertical Lines : x=k






